

**Tabulation of Bids** Page 1 of 8

Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 District(s): N1

Call Order: 132 Project(s): HSP-C00S(807)

Line No / Item ID Item Description		(1) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO						
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0001	151006M	1.000	16,000.00000	16,000.00				
_	MANCE BOND AND IT BOND	DOLL						
0005	153003P	(1)	10,000.00000	10,000.00				
PROGRE	ESS SCHEDULE	LS						
0006	153005M	2.000	250.00000	500.00				
PROGRE	SS SCHEDULE UPD	DATE U						
0007	153011M	600.000	0.01000	6.00				
TRAINE	ES .	HOUR						
8000	154003P	(1)	277,500.00000	277,500.00				
MOBILIZ	ATION	LS						



Tabulation of Bids

Page 2 of 8

Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 District(s): N1

Call Order: 132 Project(s): HSP-C00S(807)

Line No / Item ID Item Description			(1) JOSEPI TRUCKING ( DEFINO CON	CO INC T/A				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0011	157004M	1.000	28,500.00000	28,500.00				
CONSTR	RUCTION LAYOUT	DOLL						
0013	159003M	30.000	0.01000	0.30				
BREAKA	WAY BARRICADE	U						
0014	159006M	720.000	0.01000	7.20				
DRUM		U						
0015	159009M	720.000	14.00000	10,080.00				
TRAFFIC	CONE	U						
0016	159012M	1,128.000	0.01000	11.28				
CONSTR	RUCTION SIGNS	SF						
0017	159027M	4.000	0.01000	0.04				
FLASHIN	IG ARROW BOARD, 4	' X 8' U						



**Tabulation of Bids** Page 3 of 8

Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 District(s): N1

Call Order: 132 Project(s): HSP-C00S(807)

Line No / Item ID Item Description		TRÚCKING	PH DEFINO CO INC T/A ITRCTING CO				
Alt Sot / Alt Mombor	Overstity and Units	Unit Drice	Fret American	Unit Dries	Fret A	Heit Deine	F.v.t. A.m. a.v.m.t

All Se	t / Ait Mellibel Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0018	159030M	4.000	5,000.00000	20,000.00				
PORTAE SIGN	BLE VARIABLE MESSAC	GE U						
0019	159108M	4.000	20,000.00000	80,000.00				
	C CONTROL TRUCK WI ED CRASH CUSHION	TH U						
0020	159126M	187,260.000	0.23000	43,069.80				
TEMPOR	RARY TRAFFIC STRIPE	S, LF						
0021	159135M	1,000.000	2.00000	2,000.00				
TEMPOR MARKER	RARY PAVEMENT RS	U						
0022	159141M	1,000.000	75.00000	75,000.00				
TRAFFIC	C DIRECTOR, FLAGGER	R HOUR						

Page 4 of 8



Tabulation of Bids

Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 District(s): N1

Call Order: 132 Project(s): HSP-C00S(807)

Line No / Item ID Item Description		(1) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0023	161003P	(1)	10,000.00000	10,000.00				
FINAL CL	_EANUP	LS						
0024	201003P	(1)	30,000.00000	30,000.00				
CLEARIN	IG SITE	LS						
0025	401113M	106,445.000	11.50000	1,224,117.50				
HMA LON REPAIR	NGITUDINAL JOINT	LF						
0026	422004M	327,590.000	1.25000	409,487.50				
FOG SEA	AL STRIP	LF						
0027	610003M	623,550.000	0.40000	249,420.00				
TRAFFIC	STRIPES, 4"	LF						



**Tabulation of Bids** Page 5 of 8

Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 District(s): N1

Call Order: 132 Project(s): HSP-C00S(807)

Contract Time: 04/06/18 COMPLETION DATE Min: Max:

Contract Description: CENTERLINE RUMBLE STRIP INSTALLATION - NORTH 2015

Line No / Item ID Item Description		TRÚCKING	PH DEFINO CO INC T/A ITRCTING CO				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTIO	N: 0001	ROADWAY		Cat Alt S	Set: Cat A	It Member:
0028	610021M	1,410.000	25.00000	35,250.00		
RPM, BI- LENS	DIRECTIONAL, AMBER	U				
0029	610024M	1,410.000	2.00000	2,820.00		
REMOVA	AL OF RPM	U				
0030	610033M	327,590.000	0.55000	180,174.50		
RUMBLE	STRIP	LF				

**Section Totals:** \$2,703,944.12



Tabulation of Bids Page 6 of 8

Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 District(s): N1

Call Order: 132 Project(s): HSP-C00S(807)

Contract Time: 04/06/18 COMPLETION DATE Min: Max:

Contract Description: CENTERLINE RUMBLE STRIP INSTALLATION - NORTH 2015

Line No / Item ID Item Description		TRÚCKING	PH DEFINO CO INC T/A NTRCTING CO				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0002	CONSTRUCTION	ON ENGINEERING	Cat Alt Set:	Cat Alt Member:
0009 155006M	1.000	25,000.00000	25,000.00	
FIELD OFFICE TYPE B SET UP	U			
0010 155024M	9.000	2,500.00000	22,500.00	
FIELD OFFICE TYPE B MAINTENANCE	МО			

Section Totals: \$47,500.00



**Tabulation of Bids** Page 7 of 8

Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 District(s): N1

Call Order: 132 Project(s): HSP-C00S(807)

Contract Time: 04/06/18 COMPLETION DATE Min: Max:

Contract Description: CENTERLINE RUMBLE STRIP INSTALLATION - NORTH 2015

	Line No / Item ID Item Description		(1) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO					
ı	Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003	NON-PARTIC	IPATING ROADWAY	Cat Alt	Set: Cat Al	It Member:
0002 152004F	1.000	4,000.00000	4,000.00		
OWNER'S AND CO PROTECTIVE LIAB INSURANCE					
0003 152012F	1.000	3,000.00000	3,000.00		
RAILROAD PROTE INSURANCE	CTIVE LIABILITY DOLL				
0004 152015F	1.000	14,000.00000	14,000.00		
POLLUTION LIABIL	LITY INSURANCE DOLL				

Section Totals: \$21,000.00



**Tabulation of Bids** Page 8 of 8

Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 District(s): N1

Call Order: 132 Project(s): HSP-C00S(807)

Contract Time: 04/06/18 COMPLETION DATE Min: Max:

Contract Description: CENTERLINE RUMBLE STRIP INSTALLATION - NORTH 2015

Line No / Item ID Item Description		TRÚCKING	(1) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0004 EROSION CONTROL Cat Alt Set: Cat Alt Member:

0012 158072M 2.000 1,500.00000 3,000.00
OIL ONLY EMERGENCY SPILL KIT, U
TYPE 1

Section Totals: \$3,000.00

Contract Totals \$2,775,444.12

Cost Plus Time Totals \$2,775,444.12

() indicates item is bid as Lump Sum

Page:



Vendor Ranking

Call Order: 132 Contract ID: 15132 Counties: WARREN

Letting Date: October 01, 2015 10:00AM District(s): N1

**Contract Time:** 04/06/18 COMPLETION DATE

Contract Description: CENTERLINE RUMBLE STRIP INSTALLATION - NORTH 2015 Project(s): HSP-C00S(807)

Rank	nk Vendor ID/Name		Total Bid	Percent Of Low Bid
1	D2206	JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	\$2,775,444.12	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,